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Distance + Midpownt tornaulas
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13. At 7pm the temperature is 24 degrees Celcius. At 10pm the temperature has dropped to 16 degrees
Celcius. Find the average rate of change in the terperature.
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14. Scientists believe that the average surface t»n“sp:mi:ure of the world has been rising steadily. The
average surface temperature can be modelled by 1= 0.024-H 15 where ' is the temperature in Celcius
and 1 is years since 1950,

(a) What do the slope and T-intercept represent?

(b} Use the equation to predict the average global temperature in 2050,

T=002t ¥15 X=0G » T=15
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surface tenp  was I5C .
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15, A manufacturing company o produces toasters. The production cost is 33000 plus 36 per toaster.

{a} Find a formula for the total cost in terms of the number of toasters.
{b) Sketch the graph of this equation.
(¢} Explain the significance of the slope and y-intercept.

‘) How many toasters would need to be produced so that the total cost g $8000.
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